N

€L0c/80 SerlLO0EALMANTY #0€

00€
_ 14 * ¢9 * 08 m 79 * L
| |

OX 0GL "XV

woo-buid-buly@ojul

Wo2" Burd-Bury] MMM

X9 1 @ %%m
e DN

\\\\é

\\\'

\\\\\\\

\

:
\\\\\\\\MNNN\\\\\\ W CL Al
7 ﬁ LN e 7 e 0T

e\ 9N SN 0248

— y

: @W 8 e G e Q%
) |

X8 25X (o) X8 <l
TN %@Zz%@gz% * Q o @

8Nl 9Nl
XQ ‘ Xg @ X8

Mm NS

%F@@ LH LT "We mgxm@@m

3@ 1 UsBBMSOA




Volkswagen T5 m

280x143 cm. L1 H1 Q.9
* *
) 8X 8X
M6 M6x25
*x 11790°
3x6 8X @ ’ 8X

4
\ *
N 8 M 8

O 16x 3XD 16 IING
) 2x PING

www.King-ping.com
[IMAX. 150 KGJ| info@king-ping.com

J '
f %W 64 %W 80 %W 62 h’c\sl.s
| 280

288 ALUVWTK280143W  09/2014




Volkswagen T5/T6&E

320x143 cm. L2 H1 340 m

%*
%1 0x ' 10x = 10x
M6x25
* <
> 10x 3xgs 10xIVI8 20x

w@ 10x 3xD 20XM6 @ 10x
KING

M8x25

PING

www.kingping.nl
info@kingping.nl

A
MAX. 150 KG

320
326 ALUVWT6L2H1D 05/2016

MONTAGEFILM KING-ALU IMPERIAAL



Volkswagen T5/T6 4

300x143 cm. L2 H1

|j 90°
Mé@ 10X i/> 10x

10x * 10x 10x

W 3xD M6 M6x25
X %
M8x25 @ 1 OX 3xD 20X M8 20X

. ) 10x |(|Nf.

PING

www.kingping.nl
info@kingping.ni

’_\MAX 150 KG!_‘

[
Ao v
300 |

305 ALUVWT6L2H1K 03/2016




